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(3)

T - I/PART -1

e [ g RIS/ CHILD DEVELOPMENT AND PEDAGOGY

R : Rl geal % g 87 @ e waw afm Ree gt

Direction : Answer the following questions by selecting the most appropriate option.

1. el # awst @ @29 39 3 R
FEEE B

(1) @fEen

(2) Tl FERR

(8) ST HLA

(4) THAIE HAEI B

2. OF q@F T AWEET &Y AE A
st T Frefifan § | S ofEn

qgE TE & 7
(1) Sreger farero
(2) TR
(3) STEIE SHET
(4) FAf-ATET

3. w Redi 3 @ 3 Peg § R
% 70 9 A E 7

(1) @ el s @ ofEfs
et &

(2) wAm T 8 ¥
(3) WP HAT § T A G A B

(4) | 9@ FEE W A g R

Level-3/161

1. To cooperate the adolescent it is

essential to
(1) Inspire
(2) Indicate his mistakes
(3) Criticize him
(4) Do negative behaviour
3, Which of the following is not a

suitable technique used by teachers
for socializing the child ?

(1) Divect tepching

(2) Identification

ratic discipline
a rotection

3. Which of the following is a wrong

statement about emotions of an
adolescent ?
(1) Emotional expressions are

modified by learning.
\

(2) Emotions are permanent.

(3) Every emotion is accompanied by
a feeling.

{4) Emotions are aroused by external
stimuli.

P.T.O.



4. oo fen & awd B

(1) =T st # A e
# O _

(2) =R el i R st
%O &

) AT et A Al e
# o FT

(4) =TT e B e W sHReE
BT T AT

5. fhaEEn ¥ =eER 7 TEn WO
| @ 9eE I B

(1) fars =

(2) Hmr-fo &
(3) wi-wfat &
(4) =l

6. 9 7 AfE Aw & oaE = # R
fn o T €, A S :

(1) ST o4 &t 9w BTy
(2) @4 T A T

(4)

6. Moral values can be

4. Ineclusive education means

(1) Meeting individual differences in
general classroom.

(2) Meeting individual differences in
different classroom.

{(3) Meeting individual differences in
special schoals,

(4) Meeting individual differences in
home based instruction.

5. In adolescence behaviour and attitude
are affected mostly by

(1) Teacher
(2} Parents

(3) Peer Groups
{4) Films

effectively
imeule um:l among the students when

(1) Frequently talks about values.
a d d practices them,
(3) HET =Rl i el g |

(4) Et-Zammed & 9 BT
7. T e af| & drgand e
Fige feFE FA T aegs B, @ B

(1) o HTFT W& B
(2) 3o =, FwEE, gEiEE e
Forepd P |

(3) B T H AR Fmior Fm)

(4) gfifrm =1 B = f=e w5

Level-3/161

ells stories of good persons.
(4) Talks of Gods and Goddesses.

7. Critical thinking helps a person in
developing abilities and skills for

(1) providing conerete experiences.

(2) proper interpretation, analysis,

evaluation and inference.

{3) ereating and

something.
(4} thinking about ways of reacting.

constructing



8. afwweE oft wEwwl & R @
TFE % wEaE @iy §

(1) THa=E  (2) AT
(3) yemi=E  (4) g

9, fFrefafae & & Fm-w FesiEen o
Ao s & o aee T2 e 7

(1) @9 79 WYE ® 0F HHET g5
&

(2) favf R & oy amdor 20
(3) W et F af w4 S

(1) Fafere sfadt & e o

10. % i od 9l Ey § Fd & e

oF @ da T e, | R W
FAT &

(1) T T
(2) FrFEmEs SEen
(3) TG AR

(4) &l Frepen Wl §

11. HOMT e SR G £

(1) 9= 9w |
(2) Tttt & B s §

(3) H8 gEAl (d@%a) g 9
(4) T o e A

Level-3/161

(5)

10,

del=

11.

A

Best method of dealing with adoleacent
by parents and teachers is

(1) Autocratic (2) Permissive
(3) Democratic (4) Restrictive

Which of the following is not a
characteristic of social development in
adolescence ?

{1} Active member of their peer

group

(2) Being an attraction towards

opposite sex
decrease  in

(3) High

relationship

friendly

(4)

Extension of special interests

An_adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to
{pinherited behaviour

pmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the
problem of

(1)
(2)

Speaking accurately

Writing  without

mistakes

committing

(3)
(4)

Listening message properly
Doing mathematical caleulations

P.T.O.



12,

13.

14,

15,

‘A A AE TEET (CCE) &
wE B

TR R g e p—

|
(2) P % ot ot 7 geiET s
(3) %49 BF & 79 W G HE|
(4) a5 B B WEH H GG B |

Frefieias § # #M-8 goemeE
% s (diar) e R ¢

(1) e
(2) wiewgan

(3) Terepaa
(4) =

EIGED

ST i 1 A &
(1) @ & =98 § B

(2) Fovers it Rrrer it §
(3) UIZHTE B YR |

(4) wrEEEEg & o A

T R B amg A k2

(1) =8 % 79 & 999
(2) SeErren & &
(3) FesimEen & 4nm
(4) TTEFEEN & AE

Level-3/161

(6)

.ddr

12. Continuous and Comprehensive
Evaluation (CCE) aims to evaluate

{1) The reasoning of child only.

(Z) All aspects of development of
child.

(3) The knowledge of child only.

(4) The understanding of child only.

13. Which of the following is not a trait
(ability) of a creative child ?

(1) Elaboration
(2) Originality
(3) Accuracy

(4) Novelty

14. Learning outcomes means
Change in the behaviour of the
udent,
ange in teaching method of the
teacher.

(3) Recognization of the subject-
matter,

(4) Completion of content.

15. Differentiation of emotions takes

place at the time of

{1} Birth of child

(2) During infancy

{3) During the period of adolescence
{(4) During adulthood



16.

1T,

18,

19.

e & @ @R #ogn e
ﬁr#gf&?rﬁ#ﬂa-mmﬁawgﬁ
78 & 7

(1) 7% Jrgma H1 e e i

(2) I9gF gRw 37 aeEl Suee FE
Tl =T |

(3) =% Mg (F=w) & 3 =fe

(4) HEFTES AfEE ST T

Feaidt & e, Rdw w9 & eEeEiE
PRl % @19 F9 FO GN9 F IRE
TEe? -
(1) AREATEE 9

(2) SEiTEE I

(3) dHufes IuPm

(4) @Ay I

GEC N ey L e I )
e F & L

(1) qF F qEHE e o

(2) aF & Wi G §
(3) aTEH B SO fawe o
(4) A % Aiegis B A

B s o e e
F AAEN] TEEE &, FiE

(1) T8 oI 70 T § werE
Firedt &1

(2) wggEe # ToF g A wemd
Pyt & |

(3) UEgER] # A ai% o HEeE o
werga e ®)

(4) THY T99 I T=T B B

Level-3/161

(7)

1.

17.

19.

A

Which of the following provision is
not suitable to meet individual
differences among learners ?

{1) Their abilities should be assessed.

{2) Adequate facilities and material
should be provided.

(3) Labelling them.
{4) Making Individualisation necessary,

Working with adolescents,
particularly maladjusted one, which is
not appropriate 7

(1) Critical approach
(2) Democratic approach
{3) Collective approach
(4) ldeal approach

Heredity plays mest important role in
the

(1) Emotional development of the

child
a | development of the child
¢ l'development of the child

(4) Cultural development of the child

The knowledge of principles of
learning is must for a good teacher,

because

(1)

It helps in maintaining discipline.

(2) It helps
interesting.

to make content

It helps to understand the content
by simple methods.

It saves time.

(4)
T 9.



A (8)

20. TS YA & Tl 5 et § 20. Which of the following characteristic is
# g _ﬁﬂﬂﬁT e ? not correct about ohjective type testing 7
(1) REwEEE (2) T (1) Reliability (2) Objectivity
(3) ey (4) AR (3) Validity  (4) Subjectivity

21. Fifad samey & Fefbeg § 8 21. Which of the following is the
- fadan ¥ 7 characteristics  of  constructivist
. classroom 7
(1) Bt B @M # A 11, (1) Students design experiments,

fepd Frern @i ame Fredt & draws conclusions and compare
T HE their findings.
(2) 9 Hﬂﬁﬁ', it #T T’i 4] (2) Knowledge is objective, universal
and complete,
(3) oE  onfAmftE o9 BEl & (3) Teacher transmits authoritative
T[T Hal 2 knowledge to students,
(4) BF ‘W’ I F dwEE E (4) Students look for the 'right'
answer,

22. Freifefan A & S sfem & 0F 22. Which'of thé following is the primary
qr{EES A S Sl B g law of learning propounded by
o & 2 Thorndike ?

(1) HEsa & a ;ﬁw of analogy

(2) TE # Y { w of exercise

(3) o #@ Fram (3) Law of assimilation
(4) "l # Fraw {4) Law of disposition

23, oo # L GIE CE  CI 23. According to Piaget the child is able to
waEE TWoafEeE fEr L A o apply logical thoughts to all elasses of
a7 8 A 8, 9% Rem Feftee § problems, this development occurs in
H - oy F S & 7 which of the following periods 7
(1) Hre=fis B smE (1) The formal operational period
(2) ‘Jﬁ' Frams sty (2) The concrete operational period
(3) 'ﬁmﬁﬁ amafy (3) The pre-operational period
(4) 3h=3 7T @y (4) The sensory motor period

Level-3/161



(9) A

24, UF g9 F AN W OHEL e %, 24. A child is average on creativity, high
AFEME U6 Jed B a9l AEiaE in academic achievement, poor in
e % w TN 8, 9% e B social development. This is an

example of
(1) a7 JafaE st (1) Inter individual differences
(2) o TgfFs = (2) Intra individual differences
(3) s st (3) Individual differences
(4) WU A AR A (4) Measurable individual differences

25. T8 WS AEAE @I @ B aeEr 25. That internal state of mind that
H ATH ﬂﬁﬁ, Rl &3 9 T arouses, directs and maintains
TS B 9gT Fl 8, Hean & behaviour is called as
(1) @ (1) Interest
(2) SHfHeron (2) Opinion
(3) sfgh (3) Attitude
(4) ST (4) Motivation

26. 9 W AT A e ¥ A 26, Seme paople adjuse easily with new
B o ¥ it e o= people because they have high
(1) Tz o (1.Q) 2 2| (1) Intelligence Quotient (1.Q.).

(2) dfeer wT (AQ) =il B a d amic Quatient (A.Q.).
(3) wiETE @ (E.Q.) & & {3) Emotional Quotient (E.Q.).
(4) aefs @fe (8.Q.) B &) (4) Spiritual Quotient (S.Q.).

27. faFm amee: T 8 9 $ T duE 27. Development generally proceeds from

2 &, R @ 78 frer seem & head to foot, this principle of
development is called

(1) e 8 oo (1} Bilateral to unilateral

(2) AiFEifEEs (9=t § 965 @ A) (2) Proximodistal

(3) AMFg ¥ fEfire (3} General to specific

(1) frmEE {4) Cephalo Caudal

Level-3/161 P.T.Q. °



28, UF BE A% vHa & fw SR oftsm
W K I A W o= o
AR T AR 3 W awm B R
o 7Y 2

(1) =S Tom

(2) 4 fon

(3) TG o

(4) S T4 @ i

Al #FEm I F gy A
st & 4 &t #99 797 2 a8 B

(1) %8 Ffrmyat & drgaell, st
A S S5 W owE T B

29,

(2) T8 o9, EeES A @
qﬁr-ﬁﬁ-ﬂm%l

(3) T8 SAWE EW afEEal B
T 97 4 anl &)

(4) TE STTHEw- AR, T
YOI a9 gengie-
S Rl s e B

G Pt @ owEE A mr o
dmt TR a= % =R @ W
Fed & 7

(1) AR

(2) HPsTeETH
(3) IR

(4) 9T

30.

(10)

28. A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation
(2} Extrinsic motivation
(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

Which of the following statements is not
correct about learner centred approach ?

29,

(1) It takes into account learner's
capabilities, and

learning styles.

capacities

(2) It stresses the importance of
engquiry, observation and

investigation.

It emphasises  transmitting
knowledge to the learner by the
eacher.

{4

dd

30.

usés methods like experiential
earning, problem solving, concept
mapping and creative writing,

A child's attitude 'T do not care' is a
type of behaviour which can be
called

(1) Aggression
(2} Defence
(3) Denial

(4) Retrogression

Level-3/161



(1)

1T - I/PART - 11
AT -1 (f=dt) / LANGUAGE - 1 (HINDI)

Fder : Freafafia oot @ v 37 @ fav 98 ot AF g
31. orgw feg # veef 86. “aft g7 & af ¥ gEn @Y g 0
(1) Fwafs = Rw + = 3 A 2 78w 2
(2) TATER = T + 910 (1) SE=~ qahe
(3) Wil = &9 + & (2) BGRQE qoEE
(4) &Y = &1 + A {g}gﬁwqw
82. ‘awia s § Fr-a g o 7 (4) AT A
(1) 4 (2) ™ 37. ‘T @ sfEifed &= & ™ | g
33. ‘de for| oT wwem fm A - & fm W 3
& 9= g (2) FEE
(1) SAFHEE 3) Gﬁ'ﬂ'aﬂ
(2) R
@) il @"E'i’ 1
: g g= ¥ w9 Bl
(& h St afen wim
34, ‘Gﬁqﬁwmﬁﬂﬂr%ﬁaﬁmm’a
% fowos 9= ¢
(1) gfea (2) Fae
(2) st (3) wy
(3) fteafe (4) T
- 39. Pm = 4 A g W WA g8
85. f o=l § & F9-m 9= ‘w@Er R 7 q qEfeam b ?
(1) TH (1) FeeE
(2) o (2) et
(3) WEET (3) Tl
(4) gF (4) T
Level-3/161 P.T.O.




40.

41.

42,

43,

T owm o@m ogw El g oA §
s W g Fin

(1 Tf 93

(2) AT g

(3) oE= ga

(4) dlE 9a

T g A W o a7
(1) =

(2) wArEEmS ds

(3) fdmm

(4) g

FA- 9= ‘a9 B wiEh 7w E e
(1) FeE

(2) fafsmEmeT

(3) =M

(4) Ring

Ma’ g H et gt &
() 76+ 7

(2) T + A

(3) T6 + 3

) M +3

‘g’ s @ e | fede dm
(1) i+ g

(2) A+ =y

(3) 4ift + |\

(4) A + $v

Level-3/161
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45.

add

49,

Rl F af s A e | @
(1) HETTT-HE

(2) HETI-F4y

(3) SAFIHTOT-STHIY

(4) HEHTOT-37E

‘gRaTE’ 9= A IUgE AW 9EA
F7

(1) Faeitan argen

(2) e agey

(3) T TYEY

(4) =gl Tgen

‘T T T T g T 6, AT A
gr @ F9, a%, FEE - aEe
o mef o @ =T Ao

(1) FEE. P oI At fEee

(2). 3o, &0, whdl & fE AT o B
(3) IIEEH Fegat o & i

am%aﬁ'{ﬂ%ﬂm
ed o= B
(1) g

(2) g
() afEs

(4) FEs
g P A
(1) Ad-37rd

(2) IFHT-HHEET
(3) IHE-FrdeeE

(4) STdoT-TET



(13)

50. ‘Feo e ww @ o= R 7 55. O T AT I Y
(1) @t (1) =EwE
(2) S (2) i
@ o (3) wifeh
@ *9 (4) WHITHE
5l. 'ﬂﬁ@m ............. B R e : Breffe wie @ vesv 39 T G
i & R afr = @ aa W 73 7 qF (77 T 56 3 60) # G Ao -
{1 o TRE § WU & wEnem dn o @
(2) = AT 4 afaieadl oF 9TeR O B =
(3) THF WW@%IWHW@WW
5 i ¥ A oo 3 ua% REd @ S F @
e owe B ot gt W w A ey ¥ S
52, Ba o= # sy wwm @ w7 3 # wirE e # e @ gt 4 ey ¥
gon e ? I wF #uw Smaf s 3 Pl A o A
(1) FEER F TE U | _
(2) wEnE HIHpT T A G # W @
(3) wrarfe g 8 T e e, A el ot e
(4) FdE o A R R0 adm T f o
& &y § sfufea fem omen
53. ‘T v/ e A @ ¢ e & & B A
iy 4 qftae & WIdE e g E
dfe dfearell @ #Eg A @@
(3) T Rl avfed 3 & & T o) B ORw A
(4) afe % & 9 4 wEr @\ g e g A 9
' 7ol =g & By Rl 3 o 8
54. Fm o= A B W@ w9 T A | S d o P Sw dMae wow @ R
L& e HYEE & B9 § Ane S ST wEEe
(1) TS HyEg ¥ gl o @ 9 s
(2 R ﬁﬁﬁﬂﬁfﬂiﬁl‘ﬂﬁ'ﬂgﬁﬂaﬁﬁ'ﬁﬂﬂﬂﬁ
fﬁlﬁm T o g ud o A deE g & I
HAY-HEIEEY H e WG @ et WOt
() Feg o1 BE =9 W MU w B RRT O e

Level-3/161
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A

WA B g A A F A g w6 ogan
T vt e # 79 e B oA & A
W e e oiR g2 e ofimn & R
gEel A o I A 4| e 9@

H 3 3 gH Afed & T fF 5 g wWuw
% = § 3= dvg 78

T2 95w € A won # 96 E | o
i W B OBEFE 9 T BT TG
5 © oE A w B e qger 2
IS gRemEd § FFEn TNt W U
UH g o 99 qaust & Elee @ S
a7\ IREd ST oiteE w6 i Ten wd o
WO W F M W FE U Tew
e Fefe g P g en e
am ¥

gaft 7% Wt % o & 3w degw
Wl # EEe g e T Wy T
o 8 ¥ B syl o ol e gee
W @ @ A e e § o
wd difEEa F AW W G9E a6 @ Fent §
g8 H1 0F MdifaE Bem = o R e T
m@mmﬁfmqmawﬁa
A 999 & oH 1 3 f6d 2@ A
 Tiyn w9 ol megEn o s
i onaeEE & Oy IHd od o 9 ® R aien
F 2w /e B A

56. W T # Ao 2
(1) 9% FHomEE
(2) T fodg
(3) TWUU F A wiLadH
(4) i Fomeg e ¥

(14)

57. e g RO 2
(i) EFEE wEEE &
(i) HEEF wHEE &
(iii) @] SR &
(iv) Gt g oftseen %
I ant fEwe A gfu
(1) G) 99 (iv)
(2) (i) TF (iv)
(3) A (itd)
(1) A (i)

(1) 519 7 (2) T A
(3 T o (4) s
CEICEE
dda=>
(2) Mo
(3) =rET
(4) #fem q=

60. AT A § e R ¥
(1) STy
(2) S9N T e
(3) T H HeIt § GH FN
(4) =T T R

Level-3/161

58, HWNT F TUEHGE GO ® arEeE B
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I - I/ PART - 111
AT - 11 (FHAHT)/LANGUAGE - 11 (ENGLISH)

Direction : Answer the following questions by selecting the most appropriate option.

61.

62,

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

[ suddenly realized I (watch).
(1) am being watched

(2) have been watched

(3) am watched

(4) was being watched

I must finish this.

The underlined word in the above
sentence indicates

(1) Necessity

(2) Determination

(3) Wish

(4) Habit

Choose the correet suffix to form the
word. The meaning of the word is
given :

Copi.......... = Plentiful

(1) ous

(2) some

{(3) ose

(4) ful

Level-3/161

G4,

65.

fifi.

‘1 don't enjoy going to the dentist.'
The word ‘going' in the above
sentence is aan

(1) Present participle

{2} Infinitive

{3) Perfect participle

{4) Gerund

Choose the correct indirect speech of

the given sentence :

Mother said, "Don't go to the park.”

(1) Mother asked us not to go to the
park !

{2) Mother told us not to go to the
ark.

said us not to go to the

{4) Mother said to us to not to go to
the park.

Which of the following expression

means ‘extremely happy' 7
{1} be a basket case

(2) fall off your perch

(3) be off your trolley

(4) on cloud nine

P.T.O.



67.

68.

Choose

construction of the sentence :

the correct passive

Auctioneers will sell the painting at
auction.

{1) The painting would be =old at

auction,
(2) The painting will be =old by the

auctioneers at auction.

(3) The painting will be sold at

auction,

{4y The painting will be selling at

auction.

Identify the figure of speech in the
following sentence :

I must be éruel, only to be kind.
(1) Epigram
(2) Paradox
(3) Analogy

{4y Metaphor

Which of the following words is mis-
spelt ?

(1) incongruous
{2) chronological
(3) synchronus

{4) sympathetic

Level-3/161
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Direction : (§. Nos. T0 to 74) : Select the

sentence that is grammatically correct :

70.

71.

72,

(1)

(2)

(3)

(1)

(1)

(2)

My brother is the student in
Mayo College.

My brother is student of Mayo
College.

My brother is a student in the
Mavo College.

My brother is a student in Mayo
College.

Neither of them were present

there.

Neither of them was present

a P
( ither of them present there.

(4

(1)
(2)
(3)

(4)

Neither of them are present
there.
The roses smell sweet.

The roses smell sweetly.
The roses are smelling sweetly.

The roses are sweetly amelling.



73. (1)

(2)

(3)

(4)

74. (1)

(2)

(3)

(4)

75. Choose  the  correet p]:ma

You eertainly did not ought to do
it.

You certainly ought not to have
done it.

You certainly did not ought to
have done it.

You certainly ought not to have

been done it.

Who was the book given to 7

Who the book was given to ?

The book was given to who ?

Whem was the book given to ?

transcription of the word 'Locate’

(1)

(2)

(3)

(4)

Nuket/

flokeit/

Hou'keit/

Nauket/

Level-3/161
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77,

A

76 Choose the ecorrect direct speech of

the given reported speech :

He said I'd better go because it was late,

(1) He said, "You'd better go because
it's late."

(2) He said, "I'd better go because it

was late."”

(3) He said, "You'd better be gone

because it was late."

{(4) He said, "You'd better go because

it was late."

Which of the following is spelt
correctly ?

(1Y Pedimtviciam

(2) Padritician

ddaz:

78,

In which of the following sentences do
we need to insert the definite article
‘the’ ?

(1) They are all busy growing things.

(2) Wé do not generally speak of

farmers 'growing animals'. "
(3) Why do people work 7
(4) They are different from rest.

P.T O,



79. Which of the following sentences is

correct 7

(1) My father's foot was put down
when [ said I wanted a car for my
seventeenth birthday, He said [
was too young.

(2) My father down put the foot when
[ said 1 wanted a car for my
seventeenth birthday. He said 1

am too young.

(3) My father put his foot down when

I said I wanted a car for my
seventeenth bifthday. He said [

was too young.
(4) All optigne are wrong

8.

message with yvour sister,

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time

(4) Adverb Clause of reason

Level-3/161
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Since you were not there, | left a

Direction : (Q. Nos, 81 to 85) : Read the
following passage and answer the questions

by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how
many wits, how many geniuses, how many
dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it | How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
requisites  is the utter absence of all

pretension.

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake higotry and narrow
minded notions for it. [t ia not one of the
sciences, but has been well pronounced to be

e seven'. It is~a kind of
1 that feels the air of truth
prop the fingers feel objects of

touch. It does not consist with ignorance for

e

we cannot pronounce on what we do not
know; and on the other hand, the laying in
of a stock of knowledge, or mastering any
art or science seems to destroy that native
simplicity and to warp and trammel the
unbiaged freedom of mind which is
necessary to its receiving and giving their
to ordinary and casual

due weight

impressions,



(19) A

B1l. Common sense is a rare and enviable B4. Fill in the blank with the most
quality because appropriate word :
(1) Tts price is above rubies Common sense has been well
(2) All learned men have it pronounced to be ‘fairly worth the
(3) All men are without it BEVEN ...ocousmmmnsiiinis :
(4) Very few have it (1) Notions
(2) Seciences
82. What is not a requisite of common
9 {3) Talents
sense
4) Wits
(1) the wutter absence of all W
pretension
85. Which is not a synonym of the word
(2) bigotry and narrow minded 'pedant’ ?
notions
| (1) dogmatist
(3) truth and propriety e
I {2) formalst
(4) an unbiased freedom of mind AN
(3) perfectionist

83. Which of the following is not st wn-to-earth
b?* the writer in the passage 7 a
H ion ! (Q. Nos. 86 to 90) : Fill in the

(1) Affectation destro eommaon . i
s blanks with the most suitable option :

SEnse,
(2) Common sense requires the B6. i child should learn to read and
utmost simplicity and sincerity. st
(3) Common sense feels the air of (1) All
truth and propriety as the fingers
feel objects of touch. (2) Every
(4) Common sense destroys the (3) Whole
native simplicity and warps and (4) Both

trammels the freedom of mind,
Level-3/161 P.T.O.



A ) (20)

Phs RO AR IOE e » do you think 89. Take some medicine and the pain will
TV wiolence is harmful ? do
(1) opinion (1) back
(2) favour (2) off
(3) out
(3) question
(4) away
(4) advice
90. The walkers finally arrived at their
88. Where ia my wallet ? I left it ... destination. They ............. all day, and
the kitchen table. they certainly needed a rest. They ......
thirty miles.
{1) at g
(43 had been walkng: had walked
(2) in

{2) had walked; had been walking

" daz-

(4) by {4) have been walking; had walked

Level-3/161



(21)

H - IV/PART - IV
fe=dt / HINDI

R : P g & T 37 @ e qae afe Aoy AT

91.

‘TE Ewd-god SEFE &9 T97- 36 a9
e = e 7

(D) w=T

(2) |
(3)
(4) T

T @ F-a 9= e agaee e R
(1) g,

(2) arT

(3) FE
(4) TE%

fret qat & R w9 g B & oR
oot ¥

(1) T
(2 Ryt
(3) T

(4) T

Level-3/161

94. e & P STl @ e @

95.

96.

A ¥ amafgn Fifm

(1) Ffen, e, T, S
(2) e, freien, mae, e
(3) =, SrgE, TEE, FeEm

(4) e, e, TEeE, &
FE-HT 9w 99g § fifg J8f R 7

(1) Faw

addd:

(4) FHHHT

Tty o= #1 et o R

(1) Foras amen @t wa fmm 8

(2) ieE, T HH B T

(3) Pl it o o9 B ge=7 T@A A

(4) a9 fwm wd ¥
P.T.O.
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97. Pl 3 os o B s a9 100. FH-T S THEeE o # TR ?

Hifi
(1) e @ wfed AT
(1) Fegael a
. (2) = T T
(2) & O
(3) T F ETT B (3 wEr wr f@Ed o B

AR

(4) UF T & Fo |
(4) @t A - w0 AT A R

98. ‘EW' (@uEE : U9 OmE) O &

EET N 101. &0 @ f-a1 5 ffewg 7@ 2 ?
o 9% (1) ="
@) oy
(3) R (3) o1

102. % aan fr el @ e
EL

99. ‘m'ﬁmﬁlﬂsﬁ: 7ET &

(1) 9 (1) T, T, F=, Fd, T
@ aw (o) weis, g, S, G, T
(3) &

(3) wemer, 99, THE, 6, T
(4) =

(4) 938, v, guE, 9UE, S
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103.

104.

106.

"fers & 77 A @, & fee § R gre
~ % i R e R 7

(1) "erEdr a4
(2) A
(3) weal

(4) GRETG e

i 7w, s, o, TR )

mE v g ey dw @t qu
~ T § P e § 7

(1) s TgaE
(2) FfeF A
(3) HIITE STgAa
(4) i ST

YO & TwgE W e T ¥k
g7

(1) HTEFT
@ IF aE
(3) ey @@l

(4) #f ey g
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106.

107.

‘Fa # dad o’ & e €

(1) T

{EJﬂsﬂT‘f‘f

(3) T AT

(4) w feeea e #

Pt 3 & e v e 7@ ¥ 2
(1) g

@ 7

(&)

)Y THA
addaoui. ..

ueld GO0 F 28 HEN e B, 16 9 12
W afy B R oTwr i ®H @y, TH W
boin e i

(1) F=femar
(2) B9g
(3) e

(4) Hergr

BTN



A (24)

109. Fr=fofs & & #@-w 9= el @ 112, F7H & F9-6 dEF SEEE FEEE

wafaar 787§ 7 H S g 7
1y @ (1) et e
@ (2) EgErt AwE
(3) F=T Ha
(3) e
(4) TR
(4) ITEHT

% foma 78F & ?
(1) IeaferEms W ot
(2) = (@) e
(3) wArmE= (3) AU

&y v adda:

111, 3=F TEE g9 F AGEIT AERTEE 114, o & e § ggw o= B T A
F YW AT G fEE Am # Ao
27 (1) aTeamt
30, T (2) e
(2) =9 R |
(3) F=merdt
(3) HeTmg
(4) viEEEET WG . @
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. A Py # das B
- 118, ‘9 @' H WE A9 4 E 7

(1) 9fET Penfem fys

(1) ferer
(2) "ER it :

(2) ®g
(3) efeiFT T o

(3) I
(4) A=A oy

(4) I

116. FH-ar e s=m™ g 8 o

e 119. & o= fm o & vy 76 o 7
(1) et A
(2) @

(3) wTH

D aids

120 ‘SR WEY BRA FET TR ?
117. ‘qEURaTaR S 5E0s €
: (1) Bmwr #
(1) =
. ; (2) P
(3) T @ s #
(4) foey wamdt (4) Tftem FAI 1T B
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121.

122,

123.

(26)

‘THT A AT UW T T s &
—EmEH iR e 7

(1) =

(2) T

(3) iR
(4) FEferan

o AT e & gEF TEO TOu
g frm v e B 7

(1) B wEE e
(2) AR T
(3) TR A

(4) S

‘T’ o= @ get ord B
(1) P8 a9 ate & dg 7 2

(2) Pl 78 7 gw @ % o= F wow
=eg |

(3) & ey B ofy &= B
(4) st w1 & g A1
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125.

126.

124, T e & ooft o= ggw ¥ 7

(1) =, e, W

(2) weufafied, d=rd, @gay, guaen
(3) I, T, T, o
(4) Forsfifam, ageeard, @, avay

T 9= e B
(1)
(2) =

(3) =4

dda

w’ F wEE a= 78§
(1) @&l
(2) s
(3) T

(4) T
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127. ‘g #1 e’ B Pegsn @1 FeEg 130, ‘g dx i B T

T & 7
(1) Tat afg=
(1) Ferfrar fy
: (2) Hfed ot
(2) A T
ol (3) Frfar afae
T
% il (4) FF
(4) a9
131, ‘Ai@ F AW M F O AR W
128, Fr=fofas & | f9-w1 oF oW $H=s we o &
‘F
Rk (1) Siem iy Fawediar
(1) HeEraeE
(2 g4 Wit
(2) uwEr A
(3) @4 F WF 44 B
(3) TE

A D adda>

129. ¥ & F-w g gHre @ A 132, Frffed # % o9 oWE @ o
A TEAT T & 7 78T &, TuE 599 i
(1) emer TEE R (1) 379
(2) sard wewE fEEd (2) I
(3) e e (3) | o
(4) o T (4) R

Level-3/161 P.T.O.



133.

134,

135.

‘GHET o= % /56 9= 6 P
w R 7

(1) G+ dega
(2) §+89 +%d
@) §+8 +37

@) §+8Y +39

"TYA GT FET ET WA, AH HTFHT
I T - G R da w5 @& 7

(1) F&F &
(2) g T
(@ o amm
4) =

"§7 FHTHT &R & @ B e
- g fmul e & 7

(1) THEN
(2) W
(3) T T

(4) Wy etz
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136.

137.

138.

B oS J BEER W@ ww @ uR
g 3t faEe wa B 7

(1) Fr=

(2) egErt Rl
(3) F=- HEH
(4) F=T

gaer (grre) § delm gedeE & w

# frefafea e fed @@

e 8 ?

Tl e e Bl g, w75 #90 RY
el

(1 ﬂ?ﬁmm#m
(2) uftar & @ T

addas

TEVE | TE 31§87 9% g W o9
iforg

(1) Jre-amef
(2) E-HE

(3) TEE-aEw
(4) THH-TH
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139. Fm Bee § 399 oF ouert | M 9= 142. &8 & B = ¥ 99 a9 v 9E
TR ? wiEat # ugem & 7
@) SR @ W
N A (3) T
(4) MY @
140, ‘I ey Fom T 2 7 143, ‘UF A A A # FHEa # =
e i 7
(1) =9 e
(1) BfgEiar 79
(2) Taezmg :
() AR, A
(3) aETET o5 v

“Cr ¥ addazsr

141, FfEENE T s A g R 144. ‘B evEfoE @ @E’ & dEE P

g7 - ¥

(M =g, g, g (1) HAT Y

(2) @9, A, = (2) AT sam A
(3) W, Mg, q;ﬁ-qq- {3) fdw ami

(4) 3feq, w9, =@, AR ) YRR
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145. e & ‘goRf & &8 @9m 148. [ &1 sfts @l ‘FoE-aEr & ows
FA-A1 8 7 ¥
(1) S (1) FOUFEE FaH
(2) gET (2) Fae A
(3) FHeTg (3) Forefet
(4) TEsif (4) wEr fife A
146. ‘FuEE’ 9= % 9 wafmaE ¥ 149, ‘gRfE= Be w5 R & 7
(1) WS, gooft (1) fiftErEs
(2) wie, T (2) SFEEES
(3) o™, %ot (3) FerErTH
(4) it g (4) TFEREE
147. g9 - 13 w8l & BEm gor - 1 & 150, (@&~ 1 & W@ Mam g - 11 @
Hife ol fiw W ge ® gEf I W Fifre T fw W g 8§ gEf o W
=57 Fifo
en, . addasy e
(A) @aEg  (a) ATEE 9= A) VA (a) HSEOT TE
(B) HEET (b)) TEHE W= B WA (b)) ™ o
(C) R (0) 4 9= € 95 (o ey
(D) HY (d) HHF 9= (D) o (d) T R
g7 : Fe -
A B C D A B € D
(D b e a d e d b a
@ ¢ a d b 20 b a d c
@ ¢ a b d 3 ¢ a b d
4 e b d a 4 d b c a
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6. Answers lo questions in answer sheet are o be given
by darkening complete cirele using Black /Blue ball point
pen as shown below

o e 0 @

The answer will be trealed wrong, if it is marked, as
given below :

@ ® © @&

If you fill more than one circle it will be treated as a
WTONg answer.

7. Rough work should be done only in the space provided
in the Test Booklet for the same.

B. The answers are to be recorded on the OMR Answer
Sheet only, Mark your responses carefully. Mo whitener
{white [luid) is allowed for changing answers.

9. Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be dar
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer onge marked is not allowed to
be changed.

10. The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

11. Handle the Test Booklet and Answer Sheet with care, as
under no eircumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

12. The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet,

13, Candidates are pol allowed 10 rarry any textual material,
printed or written, bils of papers, p?ér. mobile phone,
electronic device or any mlfer material except the Admit
Card inside the examination hall/room:

idate must show on demand his/her Admit

ission of the
pr Invigilator, should leave his/her seat.

1B. The candidates should not leave the Examination Hall
without handing over their Answer .Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand Hhumb
impression whereas male candidates have lo affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked e, they should not be
either over inked or dried in nakure.

17. Use of Electronic/Manual Calculator is prohibited.

18. The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All eases of unfair means will be
dealt with as per Rules and Regulations of the Board.

19. No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

20. On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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